AP Calculus BC — Unit 1 Extra Practice

1.1- E){tra Practice

Complete the table. Use th

e result to estimate the limit. Use your calculator to graph the function to confirm your

results.
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Evaluate the limit using any method. Graphina calculator to verify your result.
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Use the graph to find the fimit (if it exists). If the limit does not exist, explain why.
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Use the graph of the function f to decide whether the value of the quantity exists. If it does, find it. If not, explain why.
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#18 (hint) Remember, it doesn’t matter what happens at x = ¢, what matters is whether or not the value being
approached is the same from both sides. '

#19 (hint) Evaluate the value of f{x) and x approaches 1. Then plug this value into the sine function. (There is a limit

property which allows this: li_rPf(g(x)) = f(lig} g(x))




1.2 - Extra Practice

Find the limit. Use a graphing calculator to verify.
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Find the limit analytically, then verify by calculator graph.
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Find Al}icm0 ﬂf%%:@. Compare the result to the original function...notice anything?
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#18 (hint)j You need to use the Squeeze Theorem to solve this problem.




1.3 — Extra Practice

#6b. Let fbe a function defined by f(x)= {
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Show that fis continuous at x = 1.
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is the function B comtinuous at £ == 20 7 Justify YOUF answer.
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#8b.

K“}W for # < ~2
f(:z‘})mga"g”%'z’ for —2< 2 <0
0 f(}.}?mm{}
;;5%%}5 for 2 > 0

Let f be the function defined above, where k is a constant.

(a) For what value of k, if any, is f continuous at & = —2 7 Justify your answer.
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(b) What type of discontinuity does f have at @ == 0 7 Give a reason for your answer.
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1.4 — Extra Practice ** No extra practice for section 1.4 **




